
NEB - GRADE XII

Child Development and Learning

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg' kg{]5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s hgfp“b5 .
Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 100
Pass Marks: 35 (For partial students only )

;d"x ‘s’(Group 'A')

(;+lIfKt pQ/fTds k|Zgx?  /Short answer questions)

s'g} bz k|Zgsf] pQ/ lbg'xf];\ . (Attempt any ten questions.) 10x7=70

!= lzIff dgf]lj1fgnfO{ kl/eflift ub}{ o;sf] s'g} rf/j6f dxŒj pNn]v ug'{xf];\ .  3+4

Define educational psychology and state its any four importance.

@= dfgj j[l4 / ljsf;aLrsf] km/s ;ft j'“bfdf pNn]v ug'{xf];\ . 7

Differentiate between human growth and development in seven points.

#= dfgj ljsf; cWoogsf] nDaLo ljlwsf s'g} rf/j6f kmfObf / tLgj6f a]kmfObfx? pNn]v
ug'{xf];\ . 4+3

State any four advantages and three disadvantages of longitudinal methods
of studying human development.

$= dfgj ljsf;sf r/0fx? pNn]v ug'\{xf];\ . 7

State the stages of human development.

%= gjhft cj:yfsf] d'Vo ;dfof]hgsf] JofVof ug'{xf];\ . 7

Explain the main adjustment of infancy period.

^= k"j{ afNofj:yfsf] lj|mofTds ljsf;sf] kl/ro lbg'xf];\ . 7

Explain in brief the motor development of early childhood.

&= tTk/tf, kl/kSjtf / l;sfOaLrsf] cGt/;DaGwsf] j0f{g ug'{xf];\ . 7

Describe interrelationship among readiness, maturation and learning.

*= zf:qLo ;DaGw k|Tofjt{g l;sfOsf d'Vo ljz]iftfx? pNn]v ug'{xf];\ . 7

State the main features of classical conditioning learning.
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(= :d[ltnfO{ kl/eflift ub}{ o;sf tŒjx? pNn]v ug'{xf];\ . 7

Define memory and state its elements.

!)= l;sfOsf] s'g} rf/j6f ;sf/fTds / tLgj6f gsf/fTds :yfgfGt/0fsf]  pbfx/0f;lxt
JofVof ug'{xf];\ . 4+3

Explain with examples of any four positive and any three negative transfer
of learning.

!!= l;sfOdf k|efj kfg]{ tŒjx? pNn]v ub}{ s'g} Pssf] JofVof ug'{xf];\ . 4+3

State the factors of affecting learning and explain any one of them.
!@= df:nf]sf] cfjZostfsf] >[+vnfsf] JofVof ug'{xf];\ . 7

Explain the Maslow's hierarchy of needs.

;d"x ‘v’ (Group 'B')

(lj:t[t pQ/fTds k|Zgx?  /Long answer questions)

s'g} tLg k|Zgsf] pQ/ lbg'xf];\ . (Attempt any three questions.) 3x10=30

!#= dfgj ljsf;sf s'g} kf“rj6f d'Vo lgwf{/sx?sf] JofVof ug'{xf];\ . 5x2

Describe any five main determinants of human development.

!$= pQ/ afNofj:yfsf zf/Ll/s tyf dgf]j}1flgs ;+s6x?sf] pbfx/0f;lxt JofVof
ug'{xf];\ . 5+5

Explain with examples physical and psychological hazards of late
childhood.

!%= afn ljsf;df k|efj kfg]{ s'g} kf“rj6f tŒjx?sf] JofVof ug'{xf];\ . 10

Explain any five factors of affecting child development.

!^= zf:qLo ;DaGw k|Tofjt{g / lj|mofk/s ;DaGw k|Tofjt{g l;sfOlarsf] km/s bz a'“bfdf
pNn]v ug'{xf];\ . 10

State the differences between classical and operant conditioning of
learning with ten points.

!&= l;sfO :yfgfGt/0fsf d'Vo l;4fGtx?sf] JofVof ug'{xf];\ . 10

Describe the main principles of transfer of learning.

-0-

902 (2)


